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DECIMALS

1. Arrange the digits of 374.568 in the place-

value chart.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Dr8pjV1DCW8m

° Watch Video Solution

2. Write the following decimals in ascending

order:

5.74, 6.03, 0.8, 0.658 and 7.2.

A. 0.8, 0.658, 5.74,6.03, 7.2.

B. 0.658, 0.8, 5.74, 6.03, 7.2.

C. 0.658,0.8,6.03,5.74, 7.2.

D. None of these

Answer: B


https://dl.doubtnut.com/l/_Dr8pjV1DCW8m
https://dl.doubtnut.com/l/_U4ZCkCkFIoD1

° Watch Video Solution

3. Convert each of the following decimals into
a fraction in its simplest form

Q().5

(i) .24

(iii) .08

(iv).225

o Watch Video Solution



https://dl.doubtnut.com/l/_U4ZCkCkFIoD1
https://dl.doubtnut.com/l/_j5EWLGZUw5rP

4. Convert each of the following into a decimal
fraction:

.27
Q (I)T

N 25
(ii) 3

o Watch Video Solution

5. Express as rupees using decimals:
Q (i)536 paise
(i) 65 rupees 78 paise

(1ii) 6 rupees 6 paise


https://dl.doubtnut.com/l/_Hzdc2R0ruHSV
https://dl.doubtnut.com/l/_cFmdpn7dSPdA

(iv) 28 paise

(v) 5 paise

° Watch Video Solution

6. Express 5 cm in kilometre.

A. 0.005 km

B. 0.00005 km

C. 500000 km

D. none of these


https://dl.doubtnut.com/l/_cFmdpn7dSPdA
https://dl.doubtnut.com/l/_MkVhAd4PWpS5

Answer: B

o Watch Video Solution

7. Express in kg using decimals:

60 g

A. 0.06 kg

B. 0.6 kg

C.0.006 kg

D. none of these


https://dl.doubtnut.com/l/_MkVhAd4PWpS5
https://dl.doubtnut.com/l/_GDbTh29MrH3R

Answer: A

o Watch Video Solution

8. Express in kg using decimals:

a) 7380g

A. 7.080 kg

B. 7.300 kg

C.7.380 kg

D. 73.80 kg


https://dl.doubtnut.com/l/_GDbTh29MrH3R
https://dl.doubtnut.com/l/_AlPxAF2223IP

Answer: C

o Watch Video Solution

9. Express in kg using decimals:

6kg8g

A. 6.08 kg

B. 6.8 kg

C.6.008 kg

D. 68 kg


https://dl.doubtnut.com/l/_AlPxAF2223IP
https://dl.doubtnut.com/l/_cCWcUX89lvM4

Answer: C

o Watch Video Solution

Example Addition Of Decimals

1. Add 36.4, 273.06, 9.397 and 68.

A. 86.857

B. 3857

C. 386.857


https://dl.doubtnut.com/l/_cCWcUX89lvM4
https://dl.doubtnut.com/l/_IKJAoTLNQDpT

D. none of these

Answer: C

o Watch Video Solution

2.Subtract 47.56 from 83.2.

A.35

B. 35.64

C.30.64

D. none of these


https://dl.doubtnut.com/l/_IKJAoTLNQDpT
https://dl.doubtnut.com/l/_yalmXfDfHhfH

Answer: B

o Watch Video Solution

3. Simplify: 63.7-28.89 + 76.4-37.66.

o Watch Video Solution

4. How much less is 28.8 km than 42.3 km?

A.13.5 km

B.11.5 km


https://dl.doubtnut.com/l/_yalmXfDfHhfH
https://dl.doubtnut.com/l/_JqkdtqYm8Jeg
https://dl.doubtnut.com/l/_oBb9KxGPTHIl

C.13 km

D. none of these

Answer: A

° Watch Video Solution

5. Shayama bought 4 kg 350 gpotato,3 kg 80 g
tomato and some onion. If the total weight of
the three vegetables is 10 kg 200 g, what is the

weight of onion?

o Watch Video Solution



https://dl.doubtnut.com/l/_oBb9KxGPTHIl
https://dl.doubtnut.com/l/_fpkruBhriinV

Example Multiplication Of Decimals

1. Find the product:

0 (i)67.24 x 10
(ii) 4.956 x 100

(i) 2.3748 x 1000

o Watch Video Solution

2. Multiply 35.6 by 1000.


https://dl.doubtnut.com/l/_fpkruBhriinV
https://dl.doubtnut.com/l/_V2zwhLca6NdZ
https://dl.doubtnut.com/l/_C1j8Eq0B4Mka

A. 3560

B. 356

C.0.0356

D. 35600

Answer: D

o Watch Video Solution

3. Multiply 73.68 by 5.4

A. 3978.72


https://dl.doubtnut.com/l/_C1j8Eq0B4Mka
https://dl.doubtnut.com/l/_3FtPX24Qom1o

B. 333.872

C.397.872

D. 3.872

Answer: C

o Watch Video Solution

4. Multiply 0.089 by 0.76.

o Watch Video Solution



https://dl.doubtnut.com/l/_3FtPX24Qom1o
https://dl.doubtnut.com/l/_cdwsVzCH7LJG
https://dl.doubtnut.com/l/_RstGUahN1lD6

5. Multiply 0.0235 by 0.0327

o Watch Video Solution

6. Find the product 0.47x5.320.06

o Watch Video Solution

7.1f the cost of a pen is ¥ 28.50, find the cost of

48 such pens.

A. 1500


https://dl.doubtnut.com/l/_RstGUahN1lD6
https://dl.doubtnut.com/l/_P7FiclVwOJig
https://dl.doubtnut.com/l/_9jzQ1qhUftek

B. 1368

C.1300

D. 1360

Answer: C

o Watch Video Solution

8. The cost of 1 metre of ribbon is rs. 35.80.

What will be the cost of 9.8 metres of ribbon?

A.450.84


https://dl.doubtnut.com/l/_9jzQ1qhUftek
https://dl.doubtnut.com/l/_iEiihYapcrts

B. 350.84

C.360.84

D. 359.84

Answer: B

o Watch Video Solution

9.1 kg of milk has 0.264 kg of fat. How much

fat is there in 12.5 kg of milk?

A.4.3kg


https://dl.doubtnut.com/l/_iEiihYapcrts
https://dl.doubtnut.com/l/_XKxJnjPt7R9Q

B. 1.3kg

C.2.3kg

D. 3.3kg

Answer: D

o Watch Video Solution

Example Division Of Decimals

1. Divide:

Q (i)16.8 by 10


https://dl.doubtnut.com/l/_XKxJnjPt7R9Q
https://dl.doubtnut.com/l/_IekFtm5i0LLA

(ii) 236.4 by 100

(iii) 3709.6 by 1000

° Watch Video Solution

2. Divide:
(i) 0.46 by 10
(ii)2.34 by 100

(iii) 6.28 by 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_IekFtm5i0LLA
https://dl.doubtnut.com/l/_WuFHoVN5rujO

3. Divide 39.168 by 12.

o Watch Video Solution

4.Divide 0.567 by 9

A.0.63

B.6.3

C.0.063


https://dl.doubtnut.com/l/_P3gK1bMA6peQ
https://dl.doubtnut.com/l/_ETHmPEH7n1EZ

Answer: C

o Watch Video Solution

5. Divide 2.32 by 16.

o Watch Video Solution

6. Divide 48.38 by 8

A.6.76

B. 60.475


https://dl.doubtnut.com/l/_ETHmPEH7n1EZ
https://dl.doubtnut.com/l/_KtE7gd6R8Ooi
https://dl.doubtnut.com/l/_hY5RPwC04Qcc

C.6.0475

D. 0.60475

Answer: C

° Watch Video Solution

7.Divide 202.4 by 40

A.56

B. 5.06

C. 506


https://dl.doubtnut.com/l/_hY5RPwC04Qcc
https://dl.doubtnut.com/l/_zVM9yALUvL47

D. 0.506

Answer: B

o Watch Video Solution

8. Find the quotient:
(i) 0.018 /0.6
(ii) 0.0018 / 0.09

(iii) 0.196 /1.4

° Watch Video Solution



https://dl.doubtnut.com/l/_zVM9yALUvL47
https://dl.doubtnut.com/l/_QZtC7sK5alFq
https://dl.doubtnut.com/l/_UXtBOA3ycLfx

9. A bowler took 15 wickets for 321 runs. What

is his average score per wicket?

o Watch Video Solution

10. A car covers a distance of 1089 km in 1.8

hours. What is the average speed of the car?

° Watch Video Solution



https://dl.doubtnut.com/l/_UXtBOA3ycLfx
https://dl.doubtnut.com/l/_iUUTtF4Lle4x

1. The cost of 24 toys of the same kind is Rs

783.60. Find the cost of each toy.

A. 31.65

B.32.00

C.32.65

D. 30.65

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QsGfBxPjBF4U
https://dl.doubtnut.com/l/_PWEC1M7PWdjo

12. The total weight of some bags of cement is

1743 kg. If each bag weighs 49.8 kg, how many

bags are there?

A. 33

B.35

C. 36

D. 37

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_PWEC1M7PWdjo
https://dl.doubtnut.com/l/_M36giu1g66Ej

13. Mr. Thukral distributed rs. 1840 equally
among NCC cadetsfor refreshment. If each
cadet received rs. 28.75, how many cadets were

there?

o Watch Video Solution

14. Mrs. Bose bought 15.5 litres of refined oil

for RS 1122.20. Find its cost per litre.

A.76.4

B.74.4


https://dl.doubtnut.com/l/_M36giu1g66Ej
https://dl.doubtnut.com/l/_1Czz511YuyJD

C.72.4

D.70.4

Answer: C

° Watch Video Solution

15. The product of two decimals is 1.5008. If

one of them is 0.56, find the other.

A. 2.58

B. 2.68


https://dl.doubtnut.com/l/_1Czz511YuyJD
https://dl.doubtnut.com/l/_f7vwZRxG828l

C.2.48

D. 2.28

Answer: B

° Watch Video Solution

16. Each side of a polygon is 2.9 cm in length
and its perimeter is 17.4 cm. Hold many sides

does the polygon have?

° Watch Video Solution



https://dl.doubtnut.com/l/_f7vwZRxG828l
https://dl.doubtnut.com/l/_5EIzXaQGMpWf

17. Find the average of 4.2, 7.4 and 8.8.

o Watch Video Solution

1. Convert each of the following into a fraction

in its simplest form:

(i) .8

(i) .75


https://dl.doubtnut.com/l/_xhCg78zgMUx4
https://dl.doubtnut.com/l/_njuk4jtO5LZL

(1) .06

(iv) .285

° Watch Video Solution

2. Convert each of the following as a mixed
fraction:

(1) 5.6

(ii) 12.25

(iii) 6.004

(iv) 4.625

o Watch Video Solution



https://dl.doubtnut.com/l/_njuk4jtO5LZL
https://dl.doubtnut.com/l/_AlT1q5c48gtd

3. Convert each of the

decimal:

. 47

V19
iy 196
1] W :
(i) 2516
" T00
. 3524
(iv) ——
1000

25
(v) —

8
(vi) 3E
5

(vii) 2 2
vii) 2o

17

(viii) 20

following into a

° Watch Video Solution



https://dl.doubtnut.com/l/_AlT1q5c48gtd
https://dl.doubtnut.com/l/_BblW5GoV6QQ6

4. Convert each of the following into like
decimals :
(i) 6.5,16.03,0.274,119.4 :

(i1) 3.5,0.67,15.6, 4

o Watch Video Solution

5. Fill in each of the place holders with the
correct symbol > or <.

Q 78.23 (...) 69.85

| €8 |


https://dl.doubtnut.com/l/_BblW5GoV6QQ6
https://dl.doubtnut.com/l/_KjRe7bh2jTT3
https://dl.doubtnut.com/l/_qu5aGTmseQjL

| ¥ Watch Video Solution J

6. Fill in each of the place holders with the
correct symbol > or <.

Q 3.406 (..) 3.46

o Watch Video Solution

7. Fill in each of the place holders with the
correct symbol > or <.

Q 5.68 (..) 5.86

o Watch Video Solution



https://dl.doubtnut.com/l/_qu5aGTmseQjL
https://dl.doubtnut.com/l/_wzSNdhG0jiiU
https://dl.doubtnut.com/l/_EMsmGS8Hyr10

8. Fill in each of the place holders with the
correct symbol > or <.

Q 14.05 (...) 14.005

° Watch Video Solution

9. Fill in each of the place holders with the
correct symbol > or <.

1.85(...)1.805

A >


https://dl.doubtnut.com/l/_EMsmGS8Hyr10
https://dl.doubtnut.com/l/_D8a8SqlF49pw
https://dl.doubtnut.com/l/_JvgysEfHX4QA

D. none of these

Answer: A

o Watch Video Solution

10. Fill in each of the place holders with the

correct symbol > or <.

Q 098 (..) 1.07

[ o Watch Video Solution


https://dl.doubtnut.com/l/_JvgysEfHX4QA
https://dl.doubtnut.com/l/_4KBB66M9zeMg

1. Arrange the following decimals
ascending order:

Q4.6,74,4.58,732,4.06

Q 0.5,5.5,5.05,0.05, 5.55

Q 6.84,6.48, 6.8, 6.4, 6.08

Q 2.2,2.202,2.02,22.2,2.002

° Watch Video Solution



https://dl.doubtnut.com/l/_4KBB66M9zeMg
https://dl.doubtnut.com/l/_0Fb3zUy9qu9L

12. Arrange in descending order (1)7.4, 8.34,
74.4,744,0.74

(i1) 2.6, 2.26, 2.06, 2.007, 2.3

o Watch Video Solution

13. Express 45 mm in cm, m and km.

o Watch Video Solution



https://dl.doubtnut.com/l/_KjMNGaCYTR5F
https://dl.doubtnut.com/l/_GkdPmCv74jAp

14. Express as rupees using decimals:
(i) 8 paise
(i) 9 rupees 75 paise

(i) 8 rupees 5 paise

° Watch Video Solution

15. Express in km using decimals:
(i) 65m
(i) 284m

(iii) 3 km 5m

| &


https://dl.doubtnut.com/l/_QaG90bPPEYuS
https://dl.doubtnut.com/l/_XJjj8e9W4Dwo

| ¥ Watch Video Solution |

Exercise 3 B Add

1. Add the following 16, 8.7, 0.94, 6.8 and 7.77

° Watch Video Solution

2. ADD the following 18.6, 206.37, 8.008, 26.4

and 6.9

o Watch Video Solution



https://dl.doubtnut.com/l/_XJjj8e9W4Dwo
https://dl.doubtnut.com/l/_wSHE5MPuUNez
https://dl.doubtnut.com/l/_3HM56r3uUjIa

3. Add the following 63.5, 9.7, 0.8, 26.66 and

12.17

o Watch Video Solution

4. Add the following 17.4, 86.39, 9.435, 8.8 and

0.06

o Watch Video Solution



https://dl.doubtnut.com/l/_vILUWeIzNEB4
https://dl.doubtnut.com/l/_fhDHoV8cxAGS

5. Add the following 26.9, 19.74, 231.769 and

0.048

o Watch Video Solution

6. Add the following 23.8, 8.94, 0.078 and 214.6

o Watch Video Solution

7. Add the following 6.606, 66.6, 666, 0.066, 0.66

o Watch Video Solution



https://dl.doubtnut.com/l/_JDPX2KlkkkyN
https://dl.doubtnut.com/l/_9QKvjTnsfrG5
https://dl.doubtnut.com/l/_NK94vsXeJjG5

8. Add the following 9.09, 0.909, 99.9, 9.99,

0.099

o Watch Video Solution

Exercise 3 B Subtract

1. Subtract 14.79 from 72.43

° Watch Video Solution



https://dl.doubtnut.com/l/_NK94vsXeJjG5
https://dl.doubtnut.com/l/_f098ExzG0bKl
https://dl.doubtnut.com/l/_n4a5kRNBmetV
https://dl.doubtnut.com/l/_hlixX3t358YN

2.Subtract 36.74 from 52.6

° Watch Video Solution

3. Subtract 13.876 from 22

° Watch Video Solution

4. Subtract 15.079 from 24.16

° Watch Video Solution



https://dl.doubtnut.com/l/_hlixX3t358YN
https://dl.doubtnut.com/l/_jwpvHpww7OC7
https://dl.doubtnut.com/l/_m8LnPJmAa4UL
https://dl.doubtnut.com/l/_czWD96df5Uyt

5.Subtract 0.68 from 1.007

A.0.27

B.0.3

C.0.327

D. none of these

Answer: C

o Watch Video Solution

6. Subtract 0.4678 from 5.05


https://dl.doubtnut.com/l/_czWD96df5Uyt
https://dl.doubtnut.com/l/_am6CVpyyG6MS

° Watch Video Solution

7.Subtract 2.5307 from 8

° Watch Video Solution

8. SUBTRACT 6.732 from 9.001

° Watch Video Solution

9. Take out 5.746 from 9.1.


https://dl.doubtnut.com/l/_am6CVpyyG6MS
https://dl.doubtnut.com/l/_z2IXCugfQRFW
https://dl.doubtnut.com/l/_728kGAyCC4RQ
https://dl.doubtnut.com/l/_mchzWAuIOkku

° Watch Video Solution

10. What is to be added to 63.58 to get 927

° Watch Video Solution

11. What is to be subtracted from 8.1 to get

0.813?

o Watch Video Solution



https://dl.doubtnut.com/l/_mchzWAuIOkku
https://dl.doubtnut.com/l/_HlduoGGQVPlu
https://dl.doubtnut.com/l/_leWP69PMpLND

12. By how much should 32.67 be increased to

get 60.17

o Watch Video Solution

13. By how much should 74.3 be decreased to

get 26.877

o Watch Video Solution



https://dl.doubtnut.com/l/_hzEKoHq4hoKW
https://dl.doubtnut.com/l/_cAb2KRdjPpsa

14. Rohit purchased a notebook for Rs 23.75, a
pencil for Rs 2.85 and a pen for Rs 15.90. He
gave a 50-rupee note to the shopkeeper. What

amount did he get back?

° Watch Video Solution

1. Find the product:

(1) 73.92 x 10


https://dl.doubtnut.com/l/_rRdmtXe7rdII
https://dl.doubtnut.com/l/_vpWuoALMlomH

(i) 7.54 x 10
(iii) 84.003 x 10
(iv) 0.83 x 10
(v) 0.7 x 10

(vi) 0.032 x 10

o Watch Video Solution

2. Find the product:
(1) 2.397 x 100
(i) 6.83 x 100

(iii) 2.9 x 100


https://dl.doubtnut.com/l/_vpWuoALMlomH
https://dl.doubtnut.com/l/_fKxylA6blcZA

(iv) 0.08 x 100
(v) 0.6 x 100

(vi) 0.003 x 100

o Watch Video Solution

3. Find the product:
(1) 6.7314 x 1000
(i1) 0.182 x 1000
(iii) 0.076 x 1000

(iv) 6.25 x 1000


https://dl.doubtnut.com/l/_fKxylA6blcZA
https://dl.doubtnut.com/l/_AZxCS9y9kLDY

(v) 4.8 x 1000

(vi) 0.06 x 1000

° Watch Video Solution

4.Find the product:
(i) 5.4 x 16

(i) 3.65 x 19

Q(iii) 0.854 x 12
(iv) 36.73 x 48

(v) 4.125x286

(vi) 104.06 x 75


https://dl.doubtnut.com/l/_AZxCS9y9kLDY
https://dl.doubtnut.com/l/_0yklAVr0yYsV

(vii) 6.032 x 124
(viii) 0.0146 x 69

(ix) 0.00125 x 327

o Watch Video Solution

5. Find the product:
(1) 7.6 x 2.4

(i1) 3.45 x 6.3

(iii) 0.54 x 0.27

(iv) 0.568 x 4.9

(v) 6.54 x 0.09


https://dl.doubtnut.com/l/_0yklAVr0yYsV
https://dl.doubtnut.com/l/_gCzp9YvpMHHV

(vi) 3.87 x 1.25
(vii) 0.06 x 0.38
(viii) 0.623 x 0.75
(x1) 0.014 x 0.46
(x) 54.5 x 1.76
(xi) 0.045 x 2.4

(xii) 1.245 x 6.4

o Watch Video Solution

6. Find the product:

(i) 13 x 1.3 x 0.13


https://dl.doubtnut.com/l/_gCzp9YvpMHHV
https://dl.doubtnut.com/l/_PyJbYaoG6T8h

(1) 2.4 x 1.5 x 2.5
(iii) 0.8 x 3.5 x 0.05
(iv) 0.2 x 0.02 x 0.002
(v) 11.1 x 1.1 x 0.11

(vi) 2.1 x 0.21 x 0.021

o Watch Video Solution

7. Evaluate:
(i) (1.0)2
(i) (0.7)


https://dl.doubtnut.com/l/_PyJbYaoG6T8h
https://dl.doubtnut.com/l/_hXkYQ9FHbo7I

(iii) (0.04)°

(iv) (0.11)°

° Watch Video Solution

8. Evaluate:
(i) (0.3)°
(ii) (0.05)°

(iii) (1.5)°

o Watch Video Solution



https://dl.doubtnut.com/l/_hXkYQ9FHbo7I
https://dl.doubtnut.com/l/_QIhTFRzZkMHe

9. A bus can cover 62.5 km in one hour. How

much distance can it cover in 18 hours?

A. 1135km

B. 1145km

C. 2125km

D. 1125km

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6AgefqRRjEuw
https://dl.doubtnut.com/l/_lEA1pUE5Ydlh

10. A tin of oil weighs 16.8 kg. What is the

weight of 45 such tins?

A. 8556 kg

B. 756 kg

C. 7566 kg

D. 7756 kg

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lEA1pUE5Ydlh

11. A bag of wheat weighs 97.8 kg. How much

wheat is contained in 500 such bags?

° Watch Video Solution

12. Find the weight of 16 bags of sugar, each

weighing 48.450 kg.

o Watch Video Solution



https://dl.doubtnut.com/l/_jpNYLRv3c2jV
https://dl.doubtnut.com/l/_RMVqtJHomD1O

13. A small bottle holds 0.845 kg of sauce. How

much sauce will be there in 72 such bottles?

° Watch Video Solution

14. A bottle holds 925 g of jam. How many kg

of jam will be there in 25 such bottles?

o Watch Video Solution



https://dl.doubtnut.com/l/_8lmGPnzYDuKe
https://dl.doubtnut.com/l/_H7SDtb3XggmI

15. If one drum can hold 16.850 litres of oil,

how many litres can 48 such drums hold?

o Watch Video Solution

16.1 kg of rice costs Rs. 56.80. What is the cost

of 16.25 kg of rice?

o Watch Video Solution



https://dl.doubtnut.com/l/_9Ne2PTLm9a38
https://dl.doubtnut.com/l/_mXtvuskMXokk

17. 1 metre of cloth costsRs.? 108.50. What is

the cost of 18.5 metres of this cloth?

° Watch Video Solution

18. A car can cover a distance of 8.6 km on one
litre of petrol. How far can it go on 36.5 litres

of petrol?

° Watch Video Solution



https://dl.doubtnut.com/l/_LP1pUix6gnkN
https://dl.doubtnut.com/l/_IMoa5uWSQ9r5

19. A taxi driver charges Rs. 9.80 per km. How

much will he charge for a journey of 106.5 km?

o Watch Video Solution

1. Divide:

(i) 131.6 by 10
(i) 32.56 by 10

(iii) 4.38 by 10


https://dl.doubtnut.com/l/_Epqn3VirrcEV
https://dl.doubtnut.com/l/_0UReWsEbjBRg

(iv) 0.34 by 10
(v) 0.08 by 10

(vi) 0.062 by 10

o Watch Video Solution

2. Divide:

(1) 137.2 by 100
(ii) 23.4 by

(iii) 4.7 by 100

(iv) 0.3 by 100


https://dl.doubtnut.com/l/_0UReWsEbjBRg
https://dl.doubtnut.com/l/_AyaZIXrIssu5

(v) 0.58 by 100

(vi) 0.02 by 100

° Watch Video Solution

3. Divide:

(i) 1286.5 by 1000
(i) 354.16 by 1000
(iii) 38.9 by 1000
(iv) 4.6 by 1000
(v) 0.8 by 1000

(vi) 2 by 1000

| e


https://dl.doubtnut.com/l/_AyaZIXrIssu5
https://dl.doubtnut.com/l/_NQiq17gWWYIx

& Watch Video Solution

4. Divide:
()12 by 8
(ii) 63 by 15
(iii) 47 by 20
(iv) 101 by 25
(v) 31 by 40

(vi) 11 by 16

° Watch Video Solution



https://dl.doubtnut.com/l/_NQiq17gWWYIx
https://dl.doubtnut.com/l/_vjbP2SmJ7iAD

5. Divide:

(i) 43.2 by 6

(ii) 60.48 by 12
(iii) 117.6 by 21
(iv) 217.44 by 18
(v) 2.575 by 25
(vi) 6.08 by 8
(vii) 0.765 by 9
(viii) 0.768 by 16
(ix) 0175 by 25
(x) 03322 by 11

(xi) 213 by 15


https://dl.doubtnut.com/l/_CfLq8OHP7ofY

(xii) 6.54 by 12
(xiii) 5.52 by 16
(xiv) 1.001 by 14

(xv) 0.477 by 18

° Watch Video Solution

6. Divide:

(i) 16.46/20
(ii) 403.8/ 30
(iii) 19.2/80

(iv) 156.8 /200


https://dl.doubtnut.com/l/_CfLq8OHP7ofY
https://dl.doubtnut.com/l/_Rv1OZFDgrNjt

(v) 12.8/500

(vi) 18.08/ 400

° Watch Video Solution

7. Divide:

(i) 3.28 by 0.8

(i) 0.288 by 0.9
(iii) 25.395 by 1.5
(iv) 2.0484 by 0.18
(v) 0.228 by 0.38

(vi) 0.8085 by 0.35:


https://dl.doubtnut.com/l/_Rv1OZFDgrNjt
https://dl.doubtnut.com/l/_HzGk2rtIeyhO

(vii) 21.976 by 1.64
(viii) 11.04 by 1.6
(ix) 6.612 by 11.6
(x) 0.076 by 0.19
(xi) 148 by 0.074
(xii) 16.578 by 5.4
(xiii) 28 by 0.56
(xiv) 204 by 0.7

(xv) 3 by 80

° Watch Video Solution



https://dl.doubtnut.com/l/_HzGk2rtIeyhO

8. The total cost of 24 chairs is Rs. 9255.60.

Find the cost of each chair.

° Watch Video Solution

9. 1.8 m of cloth is required for a shirt. How
many such shirts can be made from a piece of

cloth 45 m long?

° Watch Video Solution



https://dl.doubtnut.com/l/_MP5CyK8M2zbO
https://dl.doubtnut.com/l/_7nTV6k5KhceO

10. A car covers a distance of 22.8 km in 2.4
litres of petrol. How much distance will it cover

in 1litre of petrol?

o Watch Video Solution

11. A tin holds 16.5 litres of oil. How many such

tins will be required to hold 478.5 litres of oil?

° Watch Video Solution



https://dl.doubtnut.com/l/_iZm3zDC5biD3
https://dl.doubtnut.com/l/_LaVmX90IED1v

12. The weight of 37 bags of sugar is 3644.5 kg.

If all the bags weigh equally what is the weight

of each bag ?

A. 98.5kg

B. 96.5kg

C. 80.5kge

D. 90.5kg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WcIE79px9KQQ

13. If 69 buckets of equal capacity can be filled
with 586.5 litres of water, what is the capacity

of each bucket?

o Watch Video Solution

14. Monica cuts 46 m of cloth into pieces of

1.15 m each. How many pieces does she get?

° Watch Video Solution



https://dl.doubtnut.com/l/_u60P4I3fwJW1
https://dl.doubtnut.com/l/_7wEPwpfSqOev

15. Mr Soni bought some bags of cement, each

weighing 49.8 kg. If the total weight of all the

bags is 1792.8 kg, how many bags did he buy?

A. 16 bags

B. 26 bags

C. 36 bags

D. 46 bags

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rfRay2aqaidP

16. How many pieces of plywood, each 0.35 cm
thick, are required to make a pile 1.89 m high?

Hint. 1.89 m = (1.89x100) cm = 189 cm.

o Watch Video Solution

17. The product of two decimals is 261.36. If one

of them is 17.6, find the other.

o Watch Video Solution

Exercise 3 E Objective Questions


https://dl.doubtnut.com/l/_ddAgwh8fa9sr
https://dl.doubtnut.com/l/_HWIlcp0O4MMB

1. Convert into fraction .06 =?

A. -1

B3
" 50

c 18
" 300

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EdhOVgjghO0h

2. EXPRESS in fraction 1.04 =?

A11
5

Bl2
5

C11
25

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jzo1CwvC6lXZ

3. Express in decimal form 22—5

A 28

B.2.38

C. 2.008

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A2P6PdBkONZR

4. EXPRESS in km using decimal 6 cm =?

A. 0.006 km

B. 0.0006 km

C. 0.000006 km

D. none of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XFppkXeeabHl

5. EXPRESS in kg using decimal 70g=?

A. 0.7 kg

B. 0.07 kg

C.0.007 kg

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lg2kTwzYEFQx

6. EXPRESS in kg using decimal 5kg 6 g =7

A. 5.0006 kg

B. 5.06 kg

C. 5.006 kg

D. 5.6 kg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_V9Gg0ezANq4p

7. EXPRESS in km using decimal 2 km 5m =?

A. 2.5 km

B. 2.05 km

C.2.005 km

D. 2.0005 km

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_La8tN6g1E5Hy

8. Subtract (1.007-0.7) = ?

Al

B.0.37

C.0.307

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ed7AaBNYzoNl

9. What should be subtracted from . 1 to get

.03?

A. 0.7

B. 0.07

C. 0.007

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_K3u6olc0kkyv
https://dl.doubtnut.com/l/_O4pspbHJ2ry6

10. What should be added to 3.07 to get 3.5?

A. 0.57

B.0.430

C.043

D. 0.02

Answer: C

° Watch Video Solution

11.0.23 x 0.3 = 7


https://dl.doubtnut.com/l/_O4pspbHJ2ry6
https://dl.doubtnut.com/l/_TYRieK0ypGqe

A. 0.69

B.6.9

C. 0.069

D. none of these

Answer: C

° Watch Video Solution

12.0.02 x 30 = 7

A.6


https://dl.doubtnut.com/l/_TYRieK0ypGqe
https://dl.doubtnut.com/l/_Mh2iyOn7LVho

B.0.6

C.0.06

D. none of these

Answer: B

o Watch Video Solution

13.0.25 x 0.8 = 7

A.0.20

B.0.2


https://dl.doubtnut.com/l/_Mh2iyOn7LVho
https://dl.doubtnut.com/l/_wO3tBwAIunmP

C. 0.002

D. 2

Answer: B

° Watch Video Solution

14.0.4 x 0.4 x 04 =7

A. 64

B. 0.64

C. 0.064


https://dl.doubtnut.com/l/_wO3tBwAIunmP
https://dl.doubtnut.com/l/_udtHPUXgUPxv

D. none of these

Answer: C

o Watch Video Solution

15.1.1 x .1 x .01 = ?

A.0.0M

B. 0.0011

C. 01

D. none of these


https://dl.doubtnut.com/l/_udtHPUXgUPxv
https://dl.doubtnut.com/l/_0LAjYs0ORwQ1

Answer: B

o Watch Video Solution

16. 2.08+ (.16) = ?

A. 13

B.0.13

C.13

D. none of these

Answer: A


https://dl.doubtnut.com/l/_0LAjYs0ORwQ1
https://dl.doubtnut.com/l/_ht6lS8rPufs4

° Watch Video Solution

17.1.02+6="7

A 1.7

B.0.17

C.0.017

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ht6lS8rPufs4
https://dl.doubtnut.com/l/_th1scDZZjl2e

18.30.94 + 0.7 =?

A.44.2

B.4.42

C.442

D.0.442

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_th1scDZZjl2e
https://dl.doubtnut.com/l/_bYWkNawZ9p9A

19.2.73 +13 =7

A 21

B. 2.1

C.0.21

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dEUbpQThbnHx

20.891+2.2="7°

A. 913

B.4.05

C. 41

D. 41.5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6Gk9a6mnc33l

21.0.5x0.05 =7

A. 0.0250

B.25

C.0.025

D. none of these

Answer: C

O Watch Video Solution

Test Paper 3 A


https://dl.doubtnut.com/l/_TYZEcN5LTu84

1. If the cost of a pen is rs. 32.50, find the cost

of 24 such pens.

o Watch Video Solution

2. A bus can cover 64.5 km in an hour. How

much distance can it cover in 18 hours?

° Watch Video Solution

3.Find the product 0.68 x 6.5 x 0.04.


https://dl.doubtnut.com/l/_xOr0op3YoRon
https://dl.doubtnut.com/l/_czntYje6LCUJ
https://dl.doubtnut.com/l/_sjEB582IIYXe

° Watch Video Solution

4. Each bag of cement weighs 48.5 kg. How

many such bags will weigh 2231 kg?

A. 44

B. 46

C.48

D. 50

Answer: B

| 8 l


https://dl.doubtnut.com/l/_sjEB582IIYXe
https://dl.doubtnut.com/l/_QthFDMKJ3WDx

5. Divide
(i) 0196 by 1.4
(ii) 39.168 by 1.2

(1ii) 0.228 by 0.38

° Watch Video Solution

6. The product of two decimals is 1.824. If one

of them is 0.64, find the other.

o Watch Video Solution



https://dl.doubtnut.com/l/_QthFDMKJ3WDx
https://dl.doubtnut.com/l/_Hj1f46rxPkKu
https://dl.doubtnut.com/l/_GeNWT4KnYBqx

7. How many pieces of plywood, each 0.45 cm

thick, are required to make a pile 2.43 m high?

A. 480

B. 520

C. 540

D. 500

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GeNWT4KnYBqx
https://dl.doubtnut.com/l/_6gk4RJzrnrC3

8. Each side of a polygon is 3.8 cm in length
and its perimeter is 22.8 cm. How many sides

does the polygon have?

o Watch Video Solution

Test Paper 3 B

1. Convert into decimal 22—5

A 24


https://dl.doubtnut.com/l/_AuJ8EKvdHeZG
https://dl.doubtnut.com/l/_ing2t1qZJwzJ

B.2.04

C. 2.004

D. none of these

Answer: B

o Watch Video Solution

2. Convert into mixed fraction 1.008 = ?


https://dl.doubtnut.com/l/_ing2t1qZJwzJ
https://dl.doubtnut.com/l/_fffP030wzO2A

C12
125

D. none of these

Answer: B

° Watch Video Solution

3. Convert into kg

2kg5g="?

A. 2.5 kg

B.2.05 kg


https://dl.doubtnut.com/l/_fffP030wzO2A
https://dl.doubtnut.com/l/_zrZLKytbpd1R

C.2.005 kg

D. none of these

Answer: C

° Watch Video Solution

4.0.0124 - 0.15 = 7

A.0.82

B. 0.082

C. 0.0082


https://dl.doubtnut.com/l/_zrZLKytbpd1R
https://dl.doubtnut.com/l/_2NidLlXY5EAk

D. none of these

Answer: B

o Watch Video Solution

5,1.1 x .1 x .01="7

A. 011

B. 0.011

C. 0.000M

D. none of these


https://dl.doubtnut.com/l/_2NidLlXY5EAk
https://dl.doubtnut.com/l/_kUw19rGTcNQ1

Answer: C

o Watch Video Solution

6.4.669/23=7?

A 23

B.2.03

C. 2.003

D. none of these

Answer: B


https://dl.doubtnut.com/l/_kUw19rGTcNQ1
https://dl.doubtnut.com/l/_ACjulFdmQz5R

° Watch Video Solution

7.What should be added to 2.06 to get 3.17

A 14

B.1.24

C.1.04

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ACjulFdmQz5R
https://dl.doubtnut.com/l/_b7gvUjillDp3

8. What should be subtracted from 1 to get

047

A. 0.060

B. 0.06

C. 0.006

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_b7gvUjillDp3
https://dl.doubtnut.com/l/_IL5xM2fhHJth

Test Paper 3 C

1. Fill in the blanks.

Q 1.0014/14 =.....

o Watch Video Solution

2. Fill in the blanks.

Q 204 /017 = ....

° Watch Video Solution



https://dl.doubtnut.com/l/_jCUpENLa5UmS
https://dl.doubtnut.com/l/_jXvSQnoEJ3ct
https://dl.doubtnut.com/l/_3Pmzz4w1m3oe

3. Fill in the blanks.

Q0.47 X 5.3 = ...

o Watch Video Solution

4. Fill in the blanks.

0.023 x 0.03 = ...

A. 0.0069

B. 0.00069

C.6.9

D. none of these


https://dl.doubtnut.com/l/_3Pmzz4w1m3oe
https://dl.doubtnut.com/l/_0PsCFaMV8yCL

Answer: B

o Watch Video Solution

5. Fill in the blanks.

0 (0.7)° = ...

° Watch Video Solution

6. Fill in the blanks.

0(0.5)° = ...

| 8


https://dl.doubtnut.com/l/_0PsCFaMV8yCL
https://dl.doubtnut.com/l/_JJMb1hBRPJzq
https://dl.doubtnut.com/l/_NmmiMGxwvVbe

Test Paper 3 D

1. Write ‘T’for true and 'F for false for each of
the following:

00.5 x 0.05 = 0.25

° Watch Video Solution

2. Write ‘T’for true and 'F’ for false for each of

the following:


https://dl.doubtnut.com/l/_NmmiMGxwvVbe
https://dl.doubtnut.com/l/_JanYK69CYpLa
https://dl.doubtnut.com/l/_WmmwJ93MDykw

Q0.25 x 0.8 = 0.2

o Watch Video Solution

3. Write ‘Tfor true and 'F’ for false for each of
the following:

0 035/0.7=05

o Watch Video Solution

4. Write ‘T’for true and 'F’ for false for each of

the following:


https://dl.doubtnut.com/l/_WmmwJ93MDykw
https://dl.doubtnut.com/l/_CCufD9Mv5FJT
https://dl.doubtnut.com/l/_xUeok0uwlcKS

Q.4x.4x.4=0.64

o Watch Video Solution

5. Write ‘T’for true and 'F’ for false for each of
the following:

Q6cm=0.06m

o Watch Video Solution



https://dl.doubtnut.com/l/_xUeok0uwlcKS
https://dl.doubtnut.com/l/_DARCbUPMIXK5

